[Fo=E
STT351 HW5 e -
‘Due at the close of class 10 - 8 - 08.

Define function x/y? + yforO<x<land1<y<2.

a. Integrate the above function over the indicated doomain of x, y values.
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b. From the above, determine the probability glensﬂy f(x, y) (or fx y(x, y))that is a constant

multiple of the function given there.
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g. EXY) = [[xy f(x, y)dxdy

2
gw, Gy ] 0y = Gyt

‘ 1% ?2.\
y r _ ( %\A‘L\"i‘s"
h VarX Chvge 297 e,
- = N A :
= EX "‘(EX) - Y ( = —;—_—](1 PRYCHY




2 | hw5.nb

i O'X:SdX
\/
j. VarY
- BNy - o a\"
CEVED A ()
k. O'Y:SdY

- ey (e

1. Covariance of X with Y defined by E(XY) - (E X)(E Y)
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m. Covariance of X with X ’
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n. Correlation between X, Y defined by E XYO_X(EU}? EY)
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0. marginal density for X defined by fx(x) = jf flx, dy
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p. conditional density of y GIVEN x defined f;(y) =
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conditional mean of y GIVEN x defined E(Y | X =x) = f y i dy
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r. using the definitions, prove that in general EY = E (E(Y | X)), i.e. = Mot
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